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S SACABEE
B SACAAENA(SELNANL/XAL A
G HAITZAID|IBLEA (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
SEENEEEREEES
500,000& »22H 11,000
11 IIEtE A2 100,000 0 100,000
OZBII2 OIF=Y HEYS
1,000,000& *100H 100,000
SATA A& A SIXNJEH 29 360,000 400,000 A 40,000
2 180,000
== 180,000
A& A QIXNJLAEH 2H 55,000 70,000 A 15,000
2 27,500
= 27,500
201 Bt A bl 40,000 25,000 15,000
2 20,000
= 20,000
01 At 22l ] 16,800 18,000 A 1,200
OZ2&H| 2,800
) 1,400
o= 1,400
Ogetd a+2H| 4,800
2 2,400
< 2,400
OgodH 4| 200,000 x12& 2,400
) 1,200
o= 1,200
O&ALAI & 2 Xl 22| H] 1,000
2 500
= 500
osg=s+4 5,800
—& 8o SXUNAMESIAE g
100, 000& * 14 %23 2,800
2 1,400
o= 1,400
AT AZZAAAG =
100, 000& * 15 x23] 3,000
= 1,500
o= 1,500
02 332494l 23,200 7,000 16,200
O AMEZAl EHOIX SN2 7,000
2 3,500
== 3,500
Oft- & - A RIXNLAEH X2 16,200
-MIIe3 1,000,000& x12& 12,000
2 6,000
== 6,000
- Aot 3 150,000 ~12& 1,800
= 900
== 900




2AM: HAUAZAZE2R
HE: SACAALTA(SELTNEHRL /XS LAl
SHol: SATAl &30 RQAXNVHE 2 (el @2)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
- AN EH HHEZ 100,000& »12& 1,200
= 600
< 600
—dJItEEE ez 100,000& =128 1,200
& 600
< 600
202 Oddl 15,000 45,000 /30,000
& 7,500
= 7,500
01 = LH o4 4l 15,000 15,000 0
O AZds =& 15,000
= 7,500
< 7,500
A8 FIXNHAEH AL FA 305,000 330,000 A 25,000
= 152,500
< 152,500
201 Let24d] 305,000 330,000 225,000
= 152,500
< 152,500
01 At 2teltl 110,000 160,000 250,000
OSIAEA 88 110,000
& 55,000
< 55,000
03 A2 Z Hl 195,000 170,000 25,000
OSAUEAl OIMHAIIY EXNFXIAY 145,000
& 72,500
= 72,500
OOIFIIZ M@ L JI= Sstety
25,000,000& 23| 50,000
& 25,000
< 25,000
HYR2IZH (D= D) 74,073 74,073 0
JlE3l 74,073 74,073 0
JlE2&l 74,073 74,073 0
201 L2l 19,803 19,803 0
01 At 22l 19,803 19,803 0
OJle+=EHl 8,326
OJl==s gl 11,477
202 Odl 43,470 43,470 0
01 = LH 4 4l 43,470 43,470 0
Ol 43,470
203 YR =2l 10,800 10,800 0
01 122 YR8 6,600 6,600 0
o=8% 550,000& 12& 6,600
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